
Homework Set #12 Solutions (11/17 - 11/21): 
 

Chapter 15: Questions 11, 31, 53 Exercises 11, 17, 23 
 
Questions: 
 
     11.  Because it takes 60 seconds for the second hand to go around once, it has a period of 60 seconds. The 
            frequency is the reciprocal of the period so its frequency is 1/(60 s) = 0.017 hertz. 
 
     31.   
 
 
     
     
     53.  There would be a maximum, or an antinode, at the mid-point. 
 
  
Exercises:       
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Chapter 20: Questions 1, 5 Exercises 2, 7 
 
 Questions: 
 
      1.  Because the charge does not flow along the object, the object must be an insulator.  
 
      5.  On a humid day the moisture in the air allows some of the accumulated charge to leave the balloon.  
 
 Exercises: 
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